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DIRECTIONS: 
In each sentence below four words that the printed in 
bold have been lettered (1), (2), (3), (4) and (5). One 
of them may be wrongly spelt or inappropriate in the 
context of the sentence. Find out the word, which is 
wrongly  spelt  or  inappropriate  if  there  is  any.  The 
letter of that word is the answer. 
If all the  words,  which  are printed in bold , are 
correctly spelt and appropriate in the context of the 
sentence, mark (5) as the answer i.e. All correct. 
 
1) We shall be disabled 1)/ to justify 2)/ this excess 3)/ 
expenditure. 4)/ All correct 5)/ 
a) We shall be disabled    
b) to justify 
c) this excess    
d) expenditure. 
e) All correct 
 
2) Quality 1)/ is never an accident 2)/ and is always the 
result of intelligent 3)/ effort 4)/ All correct 5)/ 
a) Quality 
b) is never an accident 
c) and is always the result of intelligent 
d) effort 
e) All correct 
 
3) In order to succeed 1)/ it is  crucial 2)/ for an 
organisation to constantly 3)/ improve 4)/ All correct 
5)/ 
a) In order to succeed 
b) it is crucial 
c) for an organisation to constantly 
d) improve 
e) All correct 
 
4)  The  fear of  universal  1)/  destruction  2)/  hangs 3)/ 
over us like a dark cloud 4)/ All correct 5)/ 
a) The fear of universal 
b) destruction 
c) hangs 
d) over us like a dark cloud 

e) All correct 
 
5) The best educated 1)/ human bing 2)/ is the one who 
understands 3)/ most about the life in which 4)/ he is 
placed. All correct 5)/ 
a) The best educated 
b) human bing 
c) is the one who understands 
d) most about the life in which 
e) he is placed. All correct 
 
6) The Indian stock market has been one of the well 1)/ 
performing 2)/ markets globally 3)/ during the current 
4)/ year. All correct 5)/ 
a) The Indian stock market has been one of the well 
b) performing 
c) markets globally 
d) during the current 
e) year. All correct 
 
7) The competitive 1)/ edge for survival 2)/ lays 3)/ in 
the  effective  4)/  use  of  information  technology.  All 
correct 5)/ 
a) The competitive 
b) edge for survival 
c) lays 
d) in the effective 
e) use of information technology. All correct 
 
8) Such a situation 1)/ is neither feasible 2)/ nor 
desirable 3)/ in a democratic country like ours 4)/ All 
correct 5)/ 
a) Such a situation 
b) is neither feasible 
c) nor desirable 
d) in a democratic country like ours 
e) All correct 
 
9) We have noticed 1)/ you in advance 2)/ regard ing 
3)/ the regional 4)/ manager’s conference. All correct 
5)/ 
a) We have noticed 
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b) you in advance 
c) regard ing 
d) the regional 
e) manager’s conference. All correct 
 
10)  Underneath  1)/  the  new  law  2)/  the  managing 
director  will  no  longer  3)/  be  appointed  4)/  by  the 
government. All correct 5)/ 
a) Underneath 
b) the new law 
c) the managing director will no longer 
d) be appointed 
e) by the government. All correct 
 
11) Thomas could not cook 1)/ very well and thus had 
to stay 2)/ food from 3)/ a restaurant. 4)/ All correct 5)/ 
a) Thomas could not cook 
b) very well and thus had to stay 
c) food from 
d) a restaurant. 
e) All correct 
 
12) He sliped 1)/ away in the night 2)/ and reached 3)/ 
there in the morning 4)/ All correct 5)/ 
a) He sliped 
b) away in the night 
c) and reached 
d) there in the morning 
e) All correct 
 
13) The industry is poised 1)/ for a quantum 2)/ jump 
as  it  has  ventured  into  Indian  markets  which  have 
excellent 3)/ growth opportunities 4)/ All correct 5)/ 
a) The industry is poised 
b) for a quantum 
c) jump as it has ventured into Indian markets which 
have excellent 
d) growth opportunities 
e) All correct 
 
14)  He  was  arrested  1)/  for  the  crime  2)/  and  was 
charged 3)/ with attempt 4)/ to murder. All correct 5)/ 

a) He was arrested 
b) for the crime 
c) and was charged 
d) with attempt 
e) to murder. All correct 
 
15) Breathe 1)/ deeply and inhale the sents 2)/ of roses 
and daisies in the landscaped gardens 3)/ surrounding 
4)/ my house. All correct 5)/ 
a) Breathe 
b) deeply and inhale the sents 
c) of roses and daisies in the landscaped gardens 
d) surrounding 
e) my house. All correct 
 
16) He let the laugher 1)/ wash away 2)/ the tension 3)/ 
and then held 4)/ up her hand. All correct 5)/ 
a) He let the laugher 
b) wash away 
c) the tension 
d) and then held 
e) up her hand. All correct 
 
17) As the dinner was ready 1)/ the hosts requested 2)/ 
everyone  to  precede  3)/  to  the  dining  4)/  hall.  All 
correct 5)/ 
a) As the dinner was ready 
b) the hosts requested 
c) everyone to precede 
d) to the dining 
e) hall. All correct 
 
18) The author also advocated 1)/ fresh vegetable 2)/ 
and  fruits 3)/  as  naturel  4)/  diet of  aged  peoples.  All 
correct 5)/ 
a) The author also advocated 
b) fresh vegetable 
c) and fruits 
d) as naturel 
e) diet of aged peoples. All correct 
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19) The document 1)/ he gave me was long and 
complicated 2)/ and I struggled 3)/ to understand 4)/ it. 
All correct 5)/ 
a) The document 
b) he gave me was long and complicated 
c) and I struggled 
d) to understand 
e) it. All correct 
 
20) One of the monkeys was keeping 1)/ a track 2)/ of 
the things 3)/ done by the king’s men from a distance 
4)/ All correct 5)/ 
a) One of the monkeys was keeping 
b) a track 
c) of the things 
d) done by the king’s men from a distance 
e) All correct 
 
21)  The  bank’s  fluctuating  1)/  performance  over  the 
prior  2)/  year  has  been  a  major  3)/  cause  4)/  for 
concern. All correct 5)/ 
a) The bank’s fluctuating 
b) performance over the prior 
c) year has been a major 
d) cause 
e) for concern. All correct 
 
22) The manager was accompanied 1)/ by several 2)/ 
experts when  he surveyed 3)/ the devastation 4)/ 
caused by the fire. All correct 5)/ 
a) The manager was accompanied 
b) by several 
c) experts when he surveyed 
d) the devastation 
e) caused by the fire. All correct 
 
23) The Swan lived in a pawned 1)/ and had striking 2)/ 
golden 3)/ feathers 4)/ All correct 5)/ 
a) The Swan lived in a pawned 
b) and had striking 
c) golden 
d) feathers 

e) All correct 
 
24)  The  scheme  permits  1)/  investors  2)/  to  buy  the 
shares from foreign 3)/ companies at a ficsed 4)/ price. 
All correct 5)/ 
a) The scheme permits 
b) investors 
c) to buy the shares from foreign 
d) companies at a ficsed 
e) price. All correct 
 
25) India’s overall 1)/ trade defecit 2)/ continues 3)/ to 
be a major source of concern for analysts 4)/ All correct 
5)/ 
a) India’s overall 
b) trade defecit 
c) continues 
d) to be a major source of concern for analysts 
e) All correct 
 
26)  Such  transactions  1)/  are  quiet  2)/  expensive  3)/ 
and time consuming 4)/ for customers. All correct 5)/ 
a) Such transactions 
b) are quiet 
c) expensive 
d) and time consuming 
e) for customers. All correct 
 
27) The presents 1)/ of all parties 2)/ involved 3)/ in the 
dispute is essential 4)/ All correct 5)/ 
a) The presents 
b) of all parties 
c) involved 
d) in the dispute is essential 
e) All correct 
 
28)  Rising  1)/  prices  2)/  of  foodgrains  will  have  an 
adverse  3)/  impac  on  developing  4)/  countries.  All 
correct 5)/ 
a) Rising 
b) prices 
c) of foodgrains will have an adverse 
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d) impac on developing 
e) countries. All correct 
 
29)  The  player  was  arrestted  1)/  for  kicking  2)/  and 
punching 3)/ a driver outside a fast-food outlet 4)/ in 
the city. All correct 5)/ 
a) The player was arrestted 
b) for kicking 
c) and punching 
d) a driver outside a fast-food outlet 
e) in the city. All correct 
 
30) An exclucive 1)/ proposal will be presented 2)/ for 
discussion  and  favourabl  e  3)/  consideration  4)/  All 
correct 5)/ 
a) An exclucive 
b) proposal will be presented 
c) for discussion and favourabl e 
d) consideration 
e) All correct 
 
31)  With  some  assistance  1)/  from  her  son  she  was 
enable 2)/ to settle 3)/ her debts 4)/ on time. All correct 
5)/ 
a) With some assistance 
b) from her son she was enable 
c) to settle 
d) her debts 
e) on time. All correct 
 
32) The conversion 1)/ of large investment banks into 
commercial 2)/ banks meant that there were fewer 3)/ 
employers in the sector 4)/ All correct 5)/ 
a) The conversion 
b) of large investment banks into commercial 
c) banks meant that there were fewer 
d) employers in the sector 
e) All correct 
 
33) The World Bank has consented 1)/ to sanction 2)/ 
the necessary 3)/ finance 4)/ for the project. All correct 
5)/ 

a) The World Bank has consented 
b) to sanction 
c) the necessary 
d) finance 
e) for the project. All correct 
 
34) The strike 1)/ continued for three days, because 2)/ 
of which the company 3)/ underwent a huge 4)/ loss. 
All correct 5)/ 
a) The strike 
b) continued for three days, because 
c) of which the company 
d) underwent a huge 
e) loss. All correct 
 
35) The council 1)/ denied having any hand 2)/ in the 
recently 3)/ unearthed scandle. 4)/ All correct 5)/ 
a) The council 
b) denied having any hand 
c) in the recently 
d) unearthed scandle. 
e) All correct 
 
36) We shall have to await 1)/ and see if these 
measures 2)/ are sufficient 3)/  to address 4)/ the 
problem. All correct 5)/ 
a) We shall have to await 
b) and see if these measures 
c) are sufficient 
d) to address 
e) the problem. All correct 
 
37) I tried to convince 1)/ him that the situation 2)/ was 
not as worse 3)/ as it appeared 4)/ All correct 5)/ 
a) I tried to convince 
b) him that the situation 
c) was not as worse 
d) as it appeared 
e) All correct 
 
38) A vaccination 1)/ drive was held 2)/ to prevent the 
outbreak 3)/ of an epidemic 4)/ All correct 5)/ 
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a) A vaccination 
b) drive was held 
c) to prevent the outbreak 
d) of an epidemic 
e) All correct 
 
39) Several 1)/ mediam 2)/ and small sized 3)/ 
companies successfully survived 4)/ the global financial 
crisis of 2008. All correct 5)/ 
a) Several 
b) mediam 
c) and small sized 
d) companies successfully survived 
e) the global financial crisis of 2008. All correct 
 
40)  They  failed  to  adhear  1)/  to  the  terms  of  the 
agreement 2)/ on which they 3)/ had agreed upon 4)/ 
earlier. All correct 5)/ 
a) They failed to adhear 
b) to the terms of the agreement 
c) on which they 
d) had agreed upon 
e) earlier. All correct 
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